( ) ( )
C=251 34 |( ) H2.7
( S41 H23 487
) L=16,350m 3.390ha
490m3/s 385
(
490m3/s 1/50 385
1/50 ( )
2
7 41 19 H13 (B/C)
3.5
29
(H14 61 )
________________________________________________________________________________________________________ « . rr .y
34 |( ) 28 2
H21 JR B/C
C=307 ( )
S41 H35
L=16,350m
385
490m3/s
1/50 B=280,912
3
2 C=54,348
7 41 19 (B/C)
5.2
30
(H19 63 )
_________________________________________________________________________________________________________ ¢ 1S )
100%
80% |
JR 60% |
40%
20% [
0% L e
19 S ISR 8RBT ISIISLI SR
20 w nun nun n n n unu un I I T I I XTI ©*T T T




